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Ablauf: 3 x spiclen.

Y
1 o~
.L (Y ”H_
i .
'I L H—
10 Q| . H_
o ._
| In G _. H_
. L
' R
T f Lot ]
.m i I I iy
ﬂ, o A 18
W
(1

Anfangsreverenz Violine Solo

an

VA )
[,

Y & o
D)

#
7 — )

Y 48

o~

f@®

AT )
- 45
N\

Violino 1

Violino 2

Guitarre

Basso

:

e

:

:

:

/() &

e

-
-

g3 35

==

/() 4

o
e




kndun? e
RENAIY
I U7
(Y
(Y] o
Y LI H_
Q
Hure
Y TR H_
M/
. b LU
[y
'l TTeTe
q HEL B, ) H_
M/
Y e ”H_
('Y
('Y TeTe
Y --b” H_
< D “ -
N N <

A
N
T

/() 4

. Tere e |
151 T % H
(11
i Iy
(Y|
L1 TN
q LN, .

. |
LN, D

M|

4

q [ YER “WN o

iy

LY

q

(Yl A e 1
1

e AEp <o |




